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QUESTION 1

An internal account is used to provide the initial connection to which server? 

A. workspace server 

B. stored process server 

C. SAS/SHARE server 

D. metadata server 

Correct Answer: 

 

QUESTION 2

Identify the object type that can be promoted. 

A. users 

B. ACT\\'s 

C. roles 

D. libraries 

Correct Answer: D 

 

QUESTION 3

If you are unable to connect to or use a server, which of the following would NOT be a viable first step in
troubleshooting? 

A. Verify that the server is running at the operating system level. 

B. Modify the SAS Server configuration files and attempt to restart. 

C. Verify that the objectspawner is running at the operating system level for the workspace and stored process servers. 

D. Examine logs to identify warnings or errors. 

Correct Answer: B 

 

QUESTION 4

The suffix of a SAS Internal account is: 

A. @sas 
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B. @saspw 

C. @LocalHost 

D. @sasMain 

Correct Answer: B 

 

QUESTION 5

A user needs to access data in a cube. The user has the following characteristics: Is in Enterprise Guide: OLAP role
Does not have Read and ReadMetadata permissions for the cube. 

What will be the result when the user attempts to access data in the cube? 

A. The user will be able to access the data since Read andReadMetadata permissions are not required. 

B. The user will be able to access the data since they are using Enterprise Guide. 

C. The user will be able to access the data since they are in the OLAP Role. 

D. The user will not be able to access the data. 

Correct Answer: 
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